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Attempt all questions.
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SECTION A (@ve )

I.. (a) State which of the following are true or false. Do

5 out of 7 questions : : (5%1=5)
Prafofem ¥ ¥ w9 ¥ o9 @ s 2 7 ww W ¥
- ¥ dtar Hifw

P.T.O.
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) When.both_ the premisses are universal and
conclusion is particular then the fallacy is
Existential Fallacy; |

S 2 IR gdend B war Freed stremd
B, @ TWE T Bal B

(i) A syllogism always has two premisses.
& Egies ¥ Wiy R e

(iii) The universal pfo'positions A and E’ donot
have existential import.
A ¥ E ¥t aaarll ¥ S o 18
B B

(iv) Contraposition of ‘I’ proposition is valid.
'l VIR FRE 2
(v} ‘So’ is a premiss-indicator word.
‘FE mmaEER I ww P
(vi) AEI is a valid mood in:figure L
o @R & AEl v T?u a2

(vii) The categorical propositibn ‘O’ distributes its
predicate term.
{0 it agta e fadT W = e e
&
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(b) FI“ in the blanks. Do 5 out of 7 questions:
(5x1=5)
ﬁaawﬁaﬁﬁlmif%tﬁamﬁ:

(i) If A is true in traditional square of opposition
then the truth value of E is

AR T -Fu ¥ o A adas @ 2, A E
qohaEed P B

(i) When we apply conversion to A proposition
e. “All § is P, it becomes

© 39 T A dar ‘gl SP§ aﬁqﬁﬁaaﬂ%
g, aaag____awm%i

(iif) Obverse of 1 proposition is

I ey @ wieatia 8

(iv) Middle term must be ______ once in valid
standard form categorical syllogism.
v du FE AR FreniE awegfs ¥ wom 9
TE AR @™ B kv

(v) E proposition and I proposition are __
to each other according to traditional square

f : of opposition. ,
wEE @ Y @ sar | adae @ b
qHar I A i
' P.T.O.
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(vi) When both the premisses are negative the
fallacy committed is

& AR sura PRue ®, A
T B T

(vii) In __—__ categorical proposition both
~ subject and predicate terms are distributed."

T ¥ O R T Rda 1w e
R E

(¢) Answer briefly. Do 10 out c;f 15 questions : .
(10x2=20)
W T ¥ 15 wE X A 10 X
(i) Define a Categorical proposition.
P e @ R ¥ )
' (ii), Define immediate inference..
FEART FAT H qRARE T
(in) Deftne Deductive reasoning.
e @i @t ot 2

(iv) State three conclusion indicator words.

&7 Proed P w Y T Rl
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(v) How are figures of categorical syllogisms

determined ?
e =gl @ @l ® e wer Fuika
s 2 7

" (vi) State the fallacy of Illicit Major.

AR T DAY THALT |

(vii) Explairi contradictory relation in traditional

square of opposition.

wwmaﬁﬂu—aﬁ?fmmlﬁm
e |

(viii) Explain the fallacy of undistributed middle.
AW T2 FAE AW F e wifw |
(ix) State the converse of the following :
Pt 1 aReds dfsw
{a) Some horses are black.
H[T N H B |
(b) All horses are black.
o O T e

P.T.O.
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(x) Reduce the fo]loﬁing into their standard
form. ‘

ffefae 2 amw ser ¥ Raffs S
(a) Roses .are fragrant.
TR g AN E
(b) There are white elephants.
O Y
(xi) State the rules of Obversion.

T & P fifdw

(xti) Explain the difference between sentence and
proposition.

g v wiaaly 3 g=R Sl |
(xiii) What is a class as conceived by Aristotle.
e AN A g w=w R

(xiv) Explain the motion of quality of categorical
propositioh. .
freft Rwia 2 T 9 e W

(xv) Explain the relation between contrary

propositions.

e A N -
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2. Do any three out of the following : (3x5=15)

ﬁﬂﬁﬁﬁﬁ ¥ = = i
(i) Explain traditional squarc of opposition.

S B - S =ran dife

(i) Define term ? Explain what is meant by
distribution of a term.. .
HE R 8 7 ol g | o 3 anfte A amw @
TS g 7

(1ii) Can a valid standard-form categorical syllogiém

have a term distributed in conclusion but
undistributed in premiss. Explain with example.

w1 U A e du =agfe ¥ o e Aol
¥ o 8 AR A 9 A s B 7 Y w g
27 '
(iv) Explain the problem of existential import.

TS Al ) wRa & o SR

(v) Explain and illustrate the rules of conversion.

et & P & geeer wie =R i

3. (a) Reduce the following categorical syllogism into
standard form and give its mood and figure, and

also identify the fallacy. Do any one. (6)

P.T.O.
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frefafr ¥ = uw Afe | Felim w1 W=
wagf ¥ tRaffd o< Sa= Jew e AR I
WWREL -

(i) No leftists are capitalists, so some capitalists
are wealthy stockbrokers, since some wealthy
stockbrokers are not leftists. '

I e R R

. Ve ¥, A F5T o e Tl @
1

(ii) All proteins are edible substances hence all

enzymes are proteins, as all enzymes are
edible substances.

T W T vl €, a9 W v Wéw g,
iFE T ot '@g wme g

(b) Test any two of the following moods for their
validity/invalidity : '

St ¥ 3 Bl @ W A e/ S & W
(i) All - 2
(i) EAO - 3

(iii) OEO — 4 . (2x2=4)
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SECTION B (WUE o)
4. -Identify the fallacies in the given passages. Do any
five. (5x2=10)
(i) “If I am not lying than 1 must be telling a tru_th.”

(ii) The object of war is durable peace, therefdre,
soldiers are the best peace makers.

(iii) ‘The best pohcy to defend yourself is to become -
offensive.’

(iv) ‘A black cat crosses the path of a traveller &
shortly afterwards the traveller broke his head.’

(v) To give charity to young he:;llthy beggar is
wrong. Therefore charity is bad.

(vi) Sleeping pills cause people to go to sleep.

(vil) Since a given cricket team is a good team, each
of its players must, therefore, be good.

R T T ¥ 9 AW R s P wiw SR
(i)i@?ﬁfﬁamumzﬁﬁaﬁamiu

(i) 38 = R =l whw 2, W ROd e T
i~ TuE B 2 )

(iti) JmrTE BT TEY IR R AR R

P.T.O.
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(iv) T = Rt ot @ T S T, IS e 9%
ELEIE AT ki '

(v) Frdt 7o wver Prad = v 3 T o S
T e B o
(vi) Wz =t Mo ¥ = = e ad )
(vii) I v R O T st O 21 I T
' Reaerdt fuger ot 21
- 5. Explain with example any. two fallacies :  (5x2=10)
R R AW W Sam AR e AR
(i) Fallacy of Compositionj :
TS AW
(i) Fallacy of Division
~ fge= S
(iii) Fallacy of Accident
R A
(iv) Complex Questidn .

ELIED) !
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